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(a) x+5=3

(b) —2x=6
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(a) x+5=3
X=3-5
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(b) —2x=6
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6-x=-3
—X=-3-6
—X=-9
x=—2
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6-x=-3
6=-3+X
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(a) x-2=4
(b) 7x=35
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(@ —5—=-2 (@) ——=6

(b) 6(x+4)=15 () 3x-1)=4

(a) X;7:_2
X—=7=-2x3
X—T7=-6

X=-6+7

[—

15

x+4=1—5
6

(b) 6(x+4)

=
[
CRRN

|
Hl\)lw

e (2)
i TS IR (5-28)
5. x+4=10 6. y+8=5

7. m-9=3 8. n-2=-10
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9. 4p=-12 10. 69

1. —=4 12. ==
7

40 © FHEHRHARAFE




13. 2x+3=-9

15 -m+1=8

17. 7-p=3

19. 6—4h=10

2. X2y
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6y—7=5

—4n-9=9
15-p=8

8 —5k=-7
X+6_
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25. 3(u+5)=15 26. 8(v—2)=56

27. —4(m-6)=28 28. -9(n+7)=30

FETHIEHIE © 29-44)

29. 2(4x+ 1)=—6 30. 7(2y—3)=49
3. 5-(3p+8)=9 32. 4-(6-q)=7
33. —3(h4_1)=—3 34. —6(k5+7)=18
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ETJTRE SX =63 —2X 1. fRGE4x=9+x-
£

5X =63 —2X
SX+2x =63

7x =63

fEHFE 52X —T)=6x+ 13 » 2. fEGFE2(4x-27)=-10x °

%

52x—7)=6x+13

10x—35=6x+13

10x—6x =35+13
4x =48

5x 2X 33X X

val = ___:70 3. val = ___:40
fi#z R 1 3 fift F7 % S5
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Sx_2X _
4 3
2—% x12=7x12
4 3
5—X><12—%x12=84
4 3
15x — 8x =84
7X =84
x=12
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e (2)
FETHNIEHIE © @-35)

4., ata=6 5. 2b-5b-3=0
6. 5x—4x+2=0 7. y—-8-9y=2
8. 7u-8=3u 9. 21+v=4v
10. 3p=25-2p 11. -4q9=5q-72
12. 3-m=m+9 13. 2n-9=36+7n
14. h+2h+15)=0 15. 2k+(3k-8)=7
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16. 4p—-(p+9)=3 17. q—(8—-0q)=0
18. 3(x—2)=8 19. 7(4 - 5y)=-63
20. 2(8-3r)+5=0 21. 16—6(1+75)=0
22. s=5(3-5) 23. 9(t—12) =5t
24, 4(e—7)=e—18 25. 6(2f +7)=3—f

46 © FHEHRHARAFE




